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~hoose the correct answer of the f’\ﬂnwiﬂ'] 10x1=10
1 20 |6 0
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. - _11
2) If ATA! is symmetric, then A? =

a) A b) (AT)? c) AT d) (A-1)?

3) If p(A) = p[AB], then the system of linear equation is consistent
then there is solution

“a) unique b) two c) no d) infinitely many

4) If |z| = 1 then the value of = is

a) z b) z oY d) 1
5) The principal argument of (sin 40° + i cos 40°)° is

a) -110° b) -70° . c) 70° d) 110°
6) The value of it729 = ... |

a)i b) -i c) 1 d) -1

7) The value of [1 \/—]

a) Cis 2% b)Cis 4%,  ¢)-Cis 284 d)-Cis ¥4
8) Zero of x3+64 = 0 is
a) 0 b) 4 c) 4i d) -4
9) The number of real numbers in [0, 2n] satisfying sin4x - 2 sin®x+1is
a) 2 b) 4 c)1 d) e

10) If o, p and y are zero of x>+px?+qx+r then Z% is

a) -9/ b) -7/ S A d)-%

11. Answer any FOUR questions: 4x2=8
-1 2 2
11) If adj A = ; ; 2| find AL,

12) Solve Cramer's rule 2x-y = 8 ; 3x+2y = -2
13) Find the square root of -5-12j
14) If |Z| = |Z-i| obtatain the Cartesian equation for the locus of
= X+Iy
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15) Find a polynomial equatioh of minimum deqree with rational co
as a Foor.

officents having 2- /3

| ' ots I P
16) Construct cubic equatiof! with 10 . 2 and 3
§11.Answer any FOUR questions: A3t -
1 L1 3
: 2 -1 3 4
17) Find the rank of the following |- 4 7 4y

18) IfA = / t; ;’j verify that A(adj A) = (adj A)A = |A|L

19) State and prove Triangle inequality.

20) If |Z| = 3 prove that 7 < |Z+6-8i| < 13

21) Solve: 8x3-2x°+7x+3

22) Determine the number of positive and negative raots of the equation
x9-5x8-14x7 = 0.

IV. Answer any FOUR questions: 4x5=20

coso. 0 sino |
23)IfFw) =| O 1 0 | show that [F(«)] ! = F[-a]
~sine 0 cosa
24) Investigate the values of A and i the system of linear equations
2x+3y+5z = 9; 7x+3y-52 = 8, 2x+3y+Az = y have _
(i) no solution (ii) a unique solution  (iii) an infinite numbr of solutions
(100 10 . _
25) i) Show that (2 + l\@) - {2 - I\/§) is purely imaginary
i) If |2z42-4i| = 2is the equations of the circle, and find its centre and

radius.
26) Ifz = x+iy andardl, 4/ 2 show that x=+y

_ 0 if its roots form a geoment~c

3% -3x-1~0 |
4 : L’.6x3+‘]2X—24 =

Solve: :
: e RV 5
the equation X

\
t
S }'\ (’\

SSKIOJL.

Kindly send me your study materials to our email id - padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }

